813RC

818068

Threaded §
insert | T35
M5/M8

M6 x 40 DIN7380
+ 817 + 123121506
+ M6 DIN985

M8 x 50 DIN6921
+ 807

-

an

-

EXCENTR 820
+ M6 x 20 DIN7991
+ LOCTITE !

KTM 1190 RC8 / RC8R
2008-2016
Part Nr. 539

BD11

M6 x 35 DIN7991
+ M6 DIN934

M6 x 25 DIN7991
+ M6 DIN934

882

| M8 x 20 DIN7991

| M6 x 12 DIN7991 |

M8 x 35 DIN7991
+ 123201008

M8 x 40 DIN7991
+ 123201708

810R

813LB

872

M8 x 50 DIN6921
+ 807

M6 x 35 DIN7380
+ 816R + 123120906
+ M6 DIN985

BD15

818155

Racing Parts




